AVERAGE SUCCESSFUL BIDS – As of May 8, 2019 Clark County Forest

Species/Type	Vol	ume	Weighted	d Average	Hi	gh	Low		
Species/Type	tons	cords	per ton	per cord	per ton	per cord	per ton	per cord	
Aspen Pulp	10165	<i>4</i> 518	\$14.77	\$33.23	\$18.85	\$42.41	\$8.65	\$19.46	
Aspen Bolts	840	373	\$20.82	\$46.85	\$31.00	\$69.75	\$15.00	\$33.75	
Oak Pulp	12220	4444	\$13.17	\$36.22	\$17.86	\$49.12	\$5.50	\$15.13	
Oak Bolts	4425	1609	\$25.31	\$69.61	\$35.00	\$96.25	\$11.00	\$30.25	
Mixed Hardwood Pulp	6260	2722	\$14.39	\$33.09	\$17.50	\$40.25	\$9.30	\$21.39	
Tamarack	0	0	#DIV/0!	#DIV/0!	\$0.00	\$0.00	\$0.00	\$0.00	
Basswood Pulp	330	171	\$5.00	\$9.65	\$5.00	\$9.65	\$5.00	\$9.65	
Mixed Hardwood Bolts	495	215	\$23.08	\$53.09	\$33.50	\$77.05	\$11.00	\$25.30	
Jack Pine Pulp	4380	2056 7 452	\$13.75 \$9.00	\$29.29 \$20.25 \$34.02	\$13.75	\$29.29	\$13.75	\$29.29 \$20.25 \$20.24	
Red Pine Pulp	15				\$9.00 \$21.77	\$20.25 \$45.72	\$9.00 \$9.64		
White Pine Pulp	950		\$16.20						
Red Pine Comingled	8315	3696	\$31.86	\$71.69	\$36.00	\$81.00	\$13.75	\$30.94	
White Pine Comingled	3910	1862	\$25.57	\$53.69	\$34.00	\$71.40	\$13.75	\$28.88	
	m	bf	mbf		m	bf	mbf		
Red Oak Sawlog	112	7.38	\$38	34.36	\$43	0.00	\$290.00		
White Oak Sawlog	335	5.16	\$37	\$370.68 \$4		0.00	\$200.00		
Black Oak Sawlog	-	7	\$15	\$154.29		\$200.00		\$120.00	
Red Maple Sawlog	81	.52	\$273.37		\$40	0.00	\$175.00		
Sugar Maple Sawlog	()	#DI	IV/0!	\$0	.00	\$0.00		
Mixed Hardwood Sawlog	8	80	\$32	23.50	\$37	0.00	\$200.00		
Red Pine Sawlogs	-	7	\$12	20.00	\$12	0.00	\$120.00		
White Pine Sawlogs	184	1.34	\$14	5.14	\$15	5.00	\$12	0.00	

TIMBER SALE BID RESULTS May 8, 2019

CLARK COUNTY FOREST

Tract	Number of Bids				
Number	Qualified	Non-Qualified	High Bidder	Appraised Value	Bid Value
41-16	0	0	No Bid	\$13,034.60	\$ -
55-16	0	0	No Bid	\$11,151.20	\$ -
22-17	0	0	No Bid	\$4,084.80	\$ -
23-17	0	0	No Bid	\$1,633.50	\$ -
26-18	1	0	Weaver Forest Products	\$24,278.00	\$ 24,283.20
31-18	1	0	Lambert Forest Products	\$78,488.70	\$ 83,877.10
1-19	8	0	Byers Forestry	\$64,571.70	\$ 94,085.00
2-19	6	0	Bergman Logging LLC	\$47,015.10	\$ 59,840.00
3-19	5	0	Bergman Logging LLC	\$126,631.60	\$ 172,500.00
4-19*	6	0	Twin Forest Products LLC	\$132,530.68	\$ 168,559.27
5-19	5	0	Wiitala & Vozka	\$18,562.50	\$ 24,300.00
6-19	6	0	Buffalo Lumber & Tie	\$50,010.60	\$ 74,860.00
7-19	1	0	Theodore Strzok Logging	\$36,074.40	\$ 41,750.00
8-19	4	0	Tlusty Logging, Inc	\$41,349.60	\$ 66,290.60
9-19	1	0	Ule Logging	\$32,039.30	\$ 38,495.00
10-19	0	0	No Bid	\$471.30	\$ -
11-19	2	0	Ule Logging	\$8,152.00	\$ 12,600.00
13-19	2	0	Martin's Forestry	\$124,589.50	\$ 166,045.00
15-19	2	0	Wiitala & Vozka	\$57,740.00	\$ 73,440.00
16-19	0	0	No Bid	\$14,868.00	\$ -
18-19	6	0	Twin Forest Products LLC	\$45,410.00	\$ 61,935.50
19-19	13	0	Pilgrim Brothers Logging	\$18,913.85	\$ 31,177.50
20-19	7	0	Tlusty Logging, Inc	\$29,751.80	\$ 46,713.40
21-19	3	0	Wiitala & Vozka	\$13,090.00	\$ 14,960.00
22-19	5	0	Ule Logging	\$21,671.60	\$ 32,930.00
23-19	6	0	Martin's Forestry	\$180,346.90	\$ 231,464.00
24-19	2	0	Ule Logging	\$38,108.70	\$ 65,100.00
25-19	4	0	Tlusty Logging, Inc	\$27,788.10	\$ 40,894.90
Totals	96	0		\$1,262,358.03	\$ 1,626,100.47

^{*}lump sum

Number of Tracts Offered	28
Number of Tracts Receiving Bids	22
Number of Tracts with Qualifying Bids	22
Number of Tracts with No Bids	6

Total Number of Bids	96
Total Number of Qualifying Bids	96
Avg. Number of Qualifying Bids Per Tract	4.4

Total Appraised Value of Tracts Sold	\$1,217,114.63
Total Bid Value of Tracts Sold	\$ 1,626,100.47
Percent Increase Over Appraised Value	34%

Cord Equivalent Volume Sold	24,733.82
Average Cord Equivalent/Sold Tract	1124
Average \$ per Cord Equivalent Sold	\$ 65.74

Acres Sold	1,350.00
Average Acreage of Sold Tracts	61
Average \$ per Acre Sold	\$ 1,204.52

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 26-18

Minimum Bid: 24,278.00

Weaver Forest Products #1037

24,283.20 ☑

Weaver	Forest F	Products	#1037 Inc 🗌
	Vol	Value	
10-PR	7	120.000	840.00
10-00	4	120.000	480.00
20T-PR	15	9.000	135.00
20T-MX	570	13.260	7,558.20
20T-OO	430	5.500	2,365.00
20T-A	1450	8.900	12,905.00
	Bid	Total:	24,283.20

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 31-18

Minimum Bid: **78,488.70**

Lambert Forest Products #1023

83,877.10 🗹

Lambert Forest Products #102 Inc [
	Vol	Value						
18T-PR	730	13.750	10,037.50					
18T-PW	560	13.750	7,700.00					
20T-PJ	4380	13.750	60,225.00					
20T-MX	390	9.300	3,627.00					
20T-OO	80	6.970	557.60					
20T-A	200	8.650	1,730.00					
	Bid	Total:	83,877.10					

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract:	1_19	Minimum Bid:	64,571.70
Haot.	1-13	Millittatti Dia.	UT,U1.1U

Byers Forestry #1120	94,085.00 🗹
Bergman Logging LLC #1013	91,500.00 🗆
Buffalo Lumber & Tie #1015	85,995.00 🗆
Twin Forest Products LLC #1036	85,170.50 🗆
Theodore Strzok Logging #1033	85,100.00 🗆
Country Forest Products #1016	82,930.00 🗆
Dairyland Forest Prod #1017	74,290.00 🗆
Burkey's Lumber LLC #1050	68,564.40 🗆

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

						Tract	: 1-19		Minir	num Bid:	64,571.	70							
Buffalo L	.umber	& Tie #1015	inc 🗌	Theodore	Strzok	Logging	#103 Inc 🗌	Bergman	Loggin	g LLC #10)13 Inc 🗌	Country	Forest I	Products #	1016 Inc 🗌	Burkey's I	Lumber	LLC #10	50 Inc 🗌
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-PW	10	120.000	1,200.00	10-PW	10	120.000	1,200.00	10-PW	10	120.000	1,200.00	10-PW	10	125.000	1,250.00	10-PW	10	120.000	1,200.00
10-MX	32	320.000	10,240.00	10-MX	32	250.000	8,000.00	10-MX	32	250.000	8,000.00	10-MX	32	230.000	7,360.00	10-MX	32	225.000	7,200.00
10-OW	21	395.000	8,295.00	10-OW	21	375.000	7,875.00	10-OW	21	380.000	7,980.00	10-OW	21	275.000	5,775.00	10-OW	21	300.000	6,300.00
10-OR	105	370.000	38,850.00	10-OR	105	375.000	39,375.00	10-OR	105	380.000	39,900.00	10-OR	105	405.000	42,525.00	10-OR	105	300.000	31,500.00
20T-PW	30	13.000	390.00	20T-PW	30	15.000	450.00	20T-PW	30	15.000	450.00	20T-PW	30	14.000	420.00	20T-PW	30	3.800	114.00
20T-BA	80	5.000	400.00	20T-BA	80	15.000	1,200.00	20T-BA	80	2.000	160.00	20T-BA	80	5.000	400.00	20T-BA	80	2.100	168.00
15T-HB	90	26.000	2,340.00	15T-HB	90	15.000	1,350.00	15T-HB	90	25.000	2,250.00	15T-HB	90	14.000	1,260.00	15T-HB	90	20.430	1,838.70
20T-MX	310	12.000	3,720.00	20T-MX	310	15.000	4,650.00	20T-MX	310	15.000	4,650.00	20T-MX	310	14.000	4,340.00	20T-MX	310	10.870	3,369.70
15T-OB	410	26.000	10,660.00	15T-OB	410	15.000	6,150.00	15T-OB	410	27.000	11,070.00	15T-OB	410	14.000	5,740.00	15T-OB	410	23.650	9,696.50
20T-00	990	10.000	9,900.00	20T-OO	990	15.000	14,850.00	20T-OO	990	16.000	15,840.00	20T-OO	990	14.000	13,860.00	20T-OO	990	7.250	7,177.50
	Bio	l Total:	85,995.00		Bid	Total:	85,100.00		Bid	Total:	91,500.00		Bid	Total:	82,930.00		Bid	Total:	68,564.40
Dairylan	d Fores	t Prod #101	7 Inc 🗌	Byers Fo	estry #	1120	Inc	Twin For	est Pro	ducts LLC	#10 Inc 🗌				v				
	Vol	Value			Vol	Value			Vol	Value									
10-PW	10	125.000	1,250.00	10-PW	10	155.000	1,550.00	10-PW	10	140.000	1,400.00								

	Bid	Total:	85,995.00		Bid	Total:	85,100.00		Bid	Total:	91,500.00
Dairyland	Fores	t Prod #10	117 Inc 🗌	Byers Fo	restry #	7 1120	Inc 🔲	Twin Fore	est Pro	ducts LLC	#10 Inc 🗌
	Vol	Value			Vol	Value			Vol	Value	
10-PW	10	125.000	1,250.00	10-PW	10	155.000	1,550.00	10-PW	10	140.000	1,400.00
10-MX	32	200.000	6,400.00	10-MX	32	370.000	11,840.00	10-MX	32	260.000	8,320.00
10-OW	21	275.000	5,775.00	10-OW	21	400.000	8,400.00	10-OW	21	385.000	8,085.00
10-OR	105	325.000	34,125.00	10-OR	105	400.000	42,000.00	10-OR	105	385.000	40,425.00
20T-PW	30	14.000	420.00	20T-PW	30	16.000	480.00	20T-PW	30	8.000	240.00
20T-BA	80	14.000	1,120.00	20T-BA	80	5.000	400.00	20T-BA	80	1.000	80.00
15T-HB	90	14.000	1,260.00	15T-HB	90	28.000	2,520.00	15T-HB	90	32.500	2,925.00
20T-MX	310	14.000	4,340.00	20T-MX	310	13.000	4,030.00	20T-MX	310	9.750	3,022.50
15T-OB	410	14.000	5,740.00	15T-OB	410	28.000	11,480.00	15T-OB	410	27.000	11,070.00
20T-OO	990	14.000	13,860.00	20T-OO	990	11.500	11,385.00	20T-OO	990	9.700	9,603.00
	Bid	Total:	74,290.00		Bid	Total:	94,085.00		Bid	l Total:	85,170.50

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 2-19

Minimum Bid: 47,015.10

Bergman Logging LLC #1013	59,840.00 🗹
Country Forest Products #1016	57,729.00 □
Kron Logging #1021	57,580.00 □
Buffalo Lumber & Tie #1015	57,555.00 □
Theodore Strzok Logging #1033	54,910.00 🗆
Burkev's Lumber LLC #1050	47,816.50 □

Buffalo Lu	umber & Tie	e #1015	Inc 💹	Burkey's	Lumbei	LLC #105	50 Inc∐	Theodore	Strzol	CLogging :	#103 Inc	Bergman	Loggin	g LLC #101	13 Inc∐	Country Fo	rest P	roducts #	1016 Inc∐
	Vol Va	alue			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-MX	6 320	.000	1,920.00	10-MX	6	300.000	1,800.00	10-MX	6	300.000	1,800.00	10-MX	6	250.000	1,500.00	10-MX	6	210.000	1,260.00
10-OW	32 395	.000	12,640.00	10-OW	32	300.000	9,600.00	10-OW	32	350.000	11,200.00	10-OW	32	350.000	11,200.00	10-OW	32	305.000	9,760.00
10-OR	81 345	.000 2	27,945.00	10-OR	81	300.000	24,300.00	10-OR	81	350.000	28,350.00	10-OR	81	350.000	28,350.00	10-OR	81	409.000	33,129.00
18T-PW	10 13	.000	130.00	18T-PW	10	2.650	26.50	18T-PW	10	12.000	120.00	18T-PW	10	15.000	150.00	18T-PW	10	14.000	140.00
20T-MX	100 12	.000	1,200.00	20T-MX	100	10.870	1,087.00	20T-MX	100	12.000	1,200.00	20T-MX	100	15.000	1,500.00	20T-MX	100	14.000	1,400.00
15T-OB	220 26	.000	5,720.00	15T-OB	220	23.650	5,203.00	15T-OB	220	12.000	2,640.00	15T-OB	220	25.000	5,500.00	15T-OB	220	22.000	4,840.00
20T-OO	800 10	.000	8,000.00	20T-OO	800	7.250	5,800.00	20T-OO	800	12.000	9,600.00	20T-OO	800	14.550	11,640.00	20T-OO	800	9.000	7,200.00
	Bid Tota	al: ŧ	57,555.00	1	Bid	Total:	47,816.50		Bid	Total:	54,910.00		Bid	Total:	59,840.00		Bid '	Total:	57,729.00
	1 111001															•			

Kron Logg	ging #1	021	Inc 🔲
	Vol	Value	
10-MX	6	250.000	1,500.00
10-OW	32	325.000	10,400.00
10-OR	81	350.000	28,350.00
18T-PW	10	13.000	130.00
20T-MX	100	13.000	1,300.00
15T-OB	220	25.000	5,500.00
20T-OO	800	13.000	10,400.00
	Bid	Total:	57.580.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 3-19

Minimum Bid: 126,631.60

Bergman Logging LLC #1013 172,500.00 ☑ 170,085.00 🗆 Buffalo Lumber & Tie #1015 Country Forest Products #1016 160,440.00 159,190.00 Theodore Strzok Logging #1033 129,099.00 Burkey's Lumber LLC #1050

Buffalo Li	ımber 8	& Tie #101	5 Inc	Burkey's	Lumbe	LLC #105	50 Inc [_]	Theodore	Strzok	Logging	#103 Inc	Bergman	Loggin	ig LLC #10	013 Inc	Country F	orest F	Products #	1016 Inc ∐
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-PW	60	120.000	7,200.00	10-PW	60	120.000	7,200.00	10-PW	60	120.000	7,200.00	10-PW	60	150.000	9,000.00	10-PW	60	125.000	7,500.00
10-MR	50	320.000	16,000.00	10-MR	50	250.000	12,500.00	10-MR	50	300.000	15,000.00	10-MR	50	250.000	12,500.00	10-MR	50	300.000	15,000.00
10-OW	55	395.000	21,725.00	10-OW	55	300.000	16,500.00	10-OW	55	350.000	19,250.00	10-OW	55	300.000	16,500.00	10-OW	55	320.000	17,600.00
10-OR	196	360.000	70,560.00	10-OR	196	300.000	58,800.00	10-OR	196	350.000	68,600.00	10-OR	196	350.000	68,600.00	10-OR	196	380.000	74,480.00
20T-PW	340	13.000	4,420.00	20T-PW	340	4.750	1,615.00	20T-PW	340	13.000	4,420.00	20T-PW	340	15.000	5,100.00	20T-PW	340	12.000	4,080.00
15T-HB	90	26.000	2,340.00	15T-HB	90	25.650	2,308.50	15T-HB	90	13.000	1,170.00	15T-HB	90	25.000	2,250.00	15T-HB	90	22.000	1,980.00
20T-MX	460	12.000	5,520.00	20T-MX	460	7.400	3,404.00	20T-MX	460	13.000	5,980.00	20T-MX	460	15.000	6,900.00	20T-MX	460	14.000	6,440.00
15T-OB	830	26.000	21,580.00	15T-OB	830	21.450	17,803.50	15T-OB	830	13.000	10,790.00	15T-OB	830	25.000	20,750.00	15T-OB	830	20.000	16,600.00
20T-OO	1990	10.000	19,900.00	20T-00	1990	4.350	8,656.50	20T-OO	1990	13.000	25,870.00	20T-OO	1990	15.000	29,850.00	20T-OO	1990	8.000	15,920.00
20T-A	70	12.000	840.00	20T-A	70	4.450	311.50	20T-A	70	13.000	910.00	20T-A	70	15.000	1,050.00	20T-A	70	12.000	840.00
	Bid	Total:	170,085.00		Bid	Total:	129,099.00		Bid	Total:	159,190.00		Bid	Total:	172,500.00		Bid	Total:	160,440.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 4-19

Minimum Bid: 132,530.68

Twin Forest Products LLC #1036	168,559.27 🗹
Buffalo Lumber & Tie #1015	160,881.00 🗆
Byers Forestry #1120	154,293.30 🗆
Country Forest Products #1016	150,300.00 🗆
Northwest Hardwoods Inc #1027	138,224.83 🗆
Theodore Strzok Logging #1033	134,272.80 🗆

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

						Iract	∷ 4-19		Mini	mum Bid:	132,530.	68							
Theodor	e Strzol	k Logging	#103 Inc 🗌	Country I	Forest F	Products #	#1016 Inc 🔲	Buffalo L	umber	& Tie #10	15 Inc 🗌	Byers Fo	restry i	#1120	Inc 🗌	Twin Fore	st Pro	ducts LLC	#10 Inc 🗌
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
LumpBi	1	272.800	134,272.80	LumpBi	1	300.000	150,300.00	LumpBi	1	881.000	160,881.00	LumpBi	1	293.300	154,293.30	LumpBi	1	559.300	168,559.27
10-PW	33.3	0.000	0.00	10-PW	33.3	0.000	0.00	10-PW	33.3	0.000	0.00	10-PW	33.3	0.000	0.00	10-PW	33.3	0.000	0.00
10-BA	20.6	0.000	0.00	10-BA	20,6	0.000	0.00	10-BA	20.6	0.000	0.00	10-BA	20.6	0.000	0.00	10-BA	20.6	0.000	0.00
10-AS	12.3	0.000	0.00	10-AS	12.3	0.000	0.00	10-AS	12.3	0.000	0.00	10-AS	12.3	0.000	0.00	10-AS	12.3	0.000	0.00
10-MR	26.5	0.000	0.00	10-MR	26.5	0.000	0.00	10-MR	26.5	0.000	0.00	10-MR	26.5	0.000	0.00	10-MR	26.5	0.000	0.00
10-OW	44.2	0.000	0.00	10-OW	44.2	0.000	0.00	10-OW	44.2	0.000	0.00	10-OW	44.2	0.000	0.00	10-OW	44.2	0.000	0.00
10-OR	210	0.000	0.00	10-OR	210	0.000	0.00	10-OR	210	0.000	0.00	10-OR	210	0.000	0.00	10-OR	210	0.000	0.00
20T-PW	100	0.000	0.00	20T-PW	100	0.000	0.00	20T-PW	100	0.000	0.00	20T-PW	100	0.000	0.00	20T-PW	100	0.000	0.00
15T-HB	100	0.000	0.00	15T-HB	100	0.000	0.00	15T-HB	100	0.000	0.00	15T-HB	100	0.000	0.00	15T-HB	100	0.000	0.00
20T-MX	440	0.000	0.00	20T-MX	440	0.000	0.00	20T-MX	440	0.000	0.00	20T-MX	440	0.000	0.00	20T-MX	440	0.000	0.00
15T-OB	545	0.000	0.00	15T-OB	545	0.000	0.00	15T-OB	545	0.000	0.00	15T-OB	545	0.000	0.00	15T-OB	545	0.000	0.00
20T-00	1180	0.000	0.00	20T-OO	1180	0.000	0.00	20T-OO	1180	0.000	0.00	20T-OO	1180	0.000	0.00	20T-OO	1180	0.000	0.00
20T-A	115	0.000	0.00	20T-A	115	0.000	0.00	20T-A	115	0.000	0.00	20T-A	115	0.000	0.00	20T-A	115	0.000	0.00
	Bid	l Total:	134,272.80		Bid	Total;	150,300.00		Bio	l Total:	160,881.00		Bid	l Total:	154,293.30]	Bid	Total:	168,559.27

Northwes	t Hard	woods Inc	#102 Inc
	Vol	Value	
LumpBi	1	224.800	138,224.83
10-PW	33.3	0.000	0.00
10-BA	20.6	0.000	0.00
10-AS	12.3	0.000	0.00
10-MR	26.5	0.000	0.00
10-OW	44.2	0.000	0.00
10-OR	210	0.000	0.00
20T-PW	100	0.000	0.00
15T-HB	100	0.000	0.00
20T-MX	440	0.000	0.00
15T-OB	545	0.000	0.00
20T-OO	1180	0.000	0.00
20T-A	115	0.000	0.00
	Bid	Total:	138,224.83

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

24,300.00 ☑

23,085.00 🗆

Bid Comparison Report

Tract: 5-19

Walters Logging #1123

Wiitala & Vozka Logging LLC #1038

Minimum Bid: 18,562.50

				Th	ısty L	oggin	g, Inc #10	34					22,	781.25	5 🗆				
	Kron Logging #1021										20,587.50 □								
							g #1029				18,974.25 □								
Wiitala &	Vozka L	.ogging L	.LC # Inc [Roohr Lo	gging #	1029	Inc 🗌	Walters L	.ogging	#1123	Inc 🗌	Kron Logo	ging #1	021	Inc 🗌	Tlusty Log	jging, li	nc #1034	Inc 🔲
	Vo1	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
18T-PR	675	36.000	24,300.00	18T-PR	675	28.110	18,974.25	18T-PR	675	34.200	23,085.00	18T-PR	675	30.500	20,587.50	18T-PR	675	33.750	22,781.25
	Bid 7	Fotal:	24,300.00		Bid	Total:	18,974.25		Bid	Total:	23,085.00		Bid	Total:	20,587.50		Bid	Total:	22,781.25

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 6-19

Minimum Bid: 50,010.60

Buffalo Lumber & Tie #1015	74,860.00 🗹
Bergman Logging LLC #1013	70,986.00 🗆
Northwest Hardwoods Inc #1027	67,622.00 🗆
Twin Forest Products LLC #1036	63,802.00 🗆
Country Forest Products #1016	60,130.00 🗆
Theodore Strzok Logging #1033	57,650.00 □

			#400 1==	[<u> </u>			,	l				1			•	1			
	Bid	Total:	57,650,00		Bid	Total:	74,860.00		Bid	Total:	70,986.00		Bid	Total:	60,130.00	ļ	Bid	Total:	63,802.00
20T-A	70	10.000	700.00	20T-A	70	12.000	840.00	20T-A	70	10.000	700.00	20T-A	70	12.000	840.00	20T-A	70	4.900	343.00
20T-00	920	10.000	9,200.00	20T-OO	920	10.000	9,200.00	20T-OO	920	14.550	13,386.00	20T-OO	920	7.000	6,440.00	20T-OO	920	4.250	3,910.00
15T-OB	390	10.000	3,900.00	15T-OB	390	26.000	10,140.00	15T-OB	390	25.000	9,750.00	15T-OB	390	20.000	7,800.00	15T-OB	390	29.200	11,388.00
20T-MX	340	10.000	3,400.00	20T-MX	340	12.000	4,080.00	20T-MX	340	15.000	5,100.00	20T-MX	340	12.000	4,080.00	20T-MX	340	4.900	1,666.00
15T-HB	150	10.000	1,500.00	15T-HB	150	26.000	3,900.00	15T-HB	150	25.000	3,750.00	15T-HB	150	20.000	3,000.00	15T-HB	150	27.500	4,125.00
20T-BA	250	10.000	2,500.00	20T-BA	250	5.000	1,250.00	20T-BA	250	2.000	500.00	20T-BA	250	5.000	1,250.00	20T-BA	250	1.000	250.00
10-OR	78	300.000	23,400.00	10-OR	78	320.000	24,960.00	10-OR	78	300.000	23,400.00	10-OR	78	290.000	22,620.00	10-OR	78	305.000	23,790.00
10-OW	30	300.000	9,000.00	10-OW	30	395.000	11,850.00	10-OW	30	300.000	9,000.00	10-OW	30	290.000	8,700.00	10-OW	30	440.000	13,200.00
10-MX	27	150.000	4,050.00	10-MX	27	320.000	8,640.00	10-MX	27	200.000	5,400.00	10-MX	27	200.000	5,400.00	10-MX	27	190.000	5,130.00
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
Theodore	Strzok	Logging #	#103 Inc	Buffalo Lu	ımber -	& Tie #101	5 Inc 🗌	Bergman	Loggir	ng LLC #10	13 Inc 🔙	Country F	orest F	Products #	1016 Inc	Twin Fore	st Pro	ducts LLC	#10 Inc [_]

Northwest	t Hard	woods Inc	#102 Inc 🗌
	Vol	Value	
10-MX	27	150.000	4,050.00
10-OW	30	330.000	9,900.00
10-OR	78	330.000	25,740.00
20T-BA	250	2.000	500.00
15T-HB	150	28.500	4,275.00
20T-MX	340	12.200	4,148.00
15T-OB	390	26.500	10,335.00
20T-OO	920	8.500	7,820.00
20T-A	70	12.200	854.00
	Bid	Total:	67,622.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: **7-19**

Minimum Bid: 36,074.40

Theodore Strzok Logging #1033

41,750.00 ☑

,			
Theodore	Strzol	Logging	#103 Inc
	Vol	Value	
10-PW	22	120.000	2,640.00
10-MX	9	200.000	1,800.00
10-OW	21	300.000	6,300.00
10-OR	59	300.000	17,700.00
20T-PW	130	11.000	1,430.00
15T-HB	40	11.000	440.00
20T-MX	180	11.000	1,980.00
15T-OB	260	11.000	2,860.00
20T-OO	600	11.000	6,600.00
	Bid	Total:	41,750.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract:

8-19

Minimum Bid: 41,349.60

66,290.60 ☑ Tlusty Logging, Inc #1034 Country Forest Products #1016 52,045.00 Dairyland Forest Prod #1017 45,890.00 □ 41,397.00 Lambert Forest Products #1023

Lambert I	Forest	Products	#102 Inc 🗌	Tlusty Lo	gging,	Inc #1034	Inc 🗌	Dairyland	Fores	t Prod #101	17 Inc 🗌	Country F	orest I	Products #	1016 Inc 🗌
	Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-PW	55	120.000	6,600.00	10-PW	55	150.000	8,250.00	10-PW	55	120.000	6,600.00	10-PW	55	125.000	6,875.00
10-OW	11	170.000	1,870.00	10-OW	11	400.000	4,400.00	10-OW	11	250.000	2,750.00	10-OW	11	250.000	2,750.00
10-OR	36	270.000	9,720.00	10-OR	36	415.000	14,940.00	10-OR	36	300.000	10,800.00	10-OR	36	295.000	10,620.00
20T-PW	320	13.150	4,208.00	20T-PW	320	21.770	6,966.40	20T-PW	320	11.000	3,520.00	20T-PW	320	15.000	4,800.00
20T-MX	380	10.150	3,857.00	20T-MX	380	15.270	5,802.60	20T-MX	380	11.000	4,180.00	20T-MX	380	15.000	5,700.00
15T-OB	60	8.750	525.00	15T-OB	60	35.000	2,100.00	15T-OB	60	11.000	660.00	15T-OB	60	19.000	1,140.00
20T-OO	590	8.750	5,162.50	20T-OO	590	14,770	8,714.30	20T-OO	590	11.000	6,490.00	20T-OO	590	9.000	5,310.00
20T-A	990	9.550	9,454.50	20T-A	990	15.270	15,117.30	20T-A	990	11.000	10,890.00	20T-A	990	15.000	14,850.00
	Bid	Total:	41,397.00		Bid	Total:	66,290.60		Bid	Total:	45,890.00		Bid	Total:	52,045.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: **9-19**

Minimum Bid: 32,039.30

Ule Logging #1064

38,495.00 ☑

Ule Loggi	ng #10	064	Inc 🗌
	Vol	Value	
10-MR	3	175.000	525.00
10-OW	1	250.000	250.00
10-OR	8	290.000	2,320.00
18T-PW	240	15.000	3,600.00
20T-MX	410	15.000	6,150.00
15T-OB	70	15.000	1,050.00
20T-OO	260	15.000	3,900.00
15T-AB	220	15.000	3,300.00
20T-A	1160	15.000	17,400.00
	Bid	Total:	38,495.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 11-19

Minimum Bid:

8,152.00

Ule Logging #1064

Ryder Logging #1061

Ule Loggi	ng #10	64	inc 🗌	Ryder Lo	gging #	1061	inc 🔲		
	Vol	Value			Vol	Value			
20T-MX	300	15.000	4,500.00	20T-MX	300	12.500	3,750.00		
20T-OO	30	15.000	450.00	20T-OO	30	12.500	375.00		
15T-AB	40	15.000	600.00	15T-AB	40	25.000	1,000.00		
20T-A	470	15.000	7,050.00	20T-A	470	12.500	5,875.00		
	Bid	Total:	12,600.00		Bid	d Total: 11,000.			

12,600.00 ☑ 11,000.00 🗆

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: **13-19**

Minimum Bid: 124,589.50

Martin's Forestry #1058

Theodore Strzok Logging #1033

166,045.00 ☑ 129,450.00 🗆

Martin's F	orestr	y #1058	Inc 🗌	Theodore	Strzol	c Logging	#103	Inc 🗌
	Vol	Value			Vol	Value		
10-OW	35	400.000	14,000.00	10-OW	35	350.000	12,2	250.00
10-OR	112	400.000	44,800.00	10-OR	112	350.000	39,2	200.00
18T-PW	1880	26.700	50,196.00	18T-PW	1880	20.000	37,6	00.00
18T-PR	1000	26.700	26,700.00	18T-PR	1000	20.000	20,0	00.00
20T-MX	290	15.100	4,379.00	20T-MX	290	12.000	3,4	180.00
15T-OB	500	30.100	15,050.00	15T-OB	500	12.000	6,0	00.00
20T-OO	910	12.000	10,920.00	20T-00	910	12.000	10,9	20.00
	Bid	Total:	166,045.00		Bid	Total:	129,4	150.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: **15-19**

Minimum Bid: **57,740.00**

Wiitala & Vozka Logging LLC #1038

Kron Logging #1021

73,440.00 ☑ 63,114.40

Wiitala &	Vozka	Logging L	LC# Inc	Kron Log	ging #1	021	Inc 🗌
18T-PW 18T-PR	Vol 630 1480	Value 32.000 36.000	20,160.00 53,280.00	11		Value 22.000 33.280	13,860.00 49,254.40
	Bid	Total:	73,440.00			Total:	63,114.40

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: **18-19**

Minimum Bid: 45,410.00

Twin Forest Products LLC #1036	61,932.50 🗹
Buffalo Lumber & Tie #1015	59,460.00 □
Country Forest Products #1016	56,710.00
Ule Logging #1064	52,490.00 🗆
Burkey's Lumber LLC #1050	49,362.50 □
Landwehr Custom Logging #1024	46,086.00 □

Burkey's	Lumbe	r LLC #1050	Inc 🗌	Buffalo I	Lumber &	& Tie #1015	5 Inc 🗌	Country F	orest F	Products #	#1016 Inc 🗌	Ule Loggin	g #10	64	Inc 🗌	Twin Fore	st Proc	lucts LLC	#10 Inc 🗌
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-OW	36	300.000	10,800.00	10-OW	36	375.000	13,500.00	10-OW	36	300.000	10,800.00	10-OW	36	275.000	9,900.00	10-OW	36	395.000	14,220.00
10-OR	82	300.000	24,600.00	10-OR	82	350.000	28,700.00	10-OR	82	375.000	30,750.00	10-OR	82	325.000	26,650.00	10-OR	82	395.000	32,390.00
15T-OB	350	24.350	8,522.50	15T-OB	350	26.000	9,100.00	15T-OB	350	20.000	7,000.00	15T-OB	350	30.000	10,500.00	15T-OB	350	27.750	9,712.50
20T-OO	680	8.000	5,440.00	20T-OO	680	12.000	8,160.00	20T-OO	680	12.000	8,160.00	20T-OO	680	8.000	5,440.00	20T-OO	680	8.250	5,610.00
	Bid	Total:	49,362.50		Bid	Total:	59,460.00		Bid	Total:	56,710.00		Bid	Total:	52,490.00		Bìd	Total:	61,932.50
Landweh	r Custo	m Logging #	10 Inc 🗌													<u> </u>			

Landwehr	Landwehr Custom Logging #10 Inc [_]									
	Vol	Value								
10-OW	36	300.000	10,800.00							
10-OR	82	300.000	24,600.00							
15T-OB	350	18.000	6,300.00							
20T-00	680	6.450	4,386.00							
Bid Total: 46,086.00										

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 19-19 Minimum Bid: 18,913.85

	a
Pilgrim Brothers Logging #1468	31,177.50 🗹
Nicholas Syryczuk #1059	29,875.00 🗆
Lake States Timber LLC #1056	29,782.70 🗀
Kron Logging #1021	26,607.50 \square
Landwehr Custom Logging #1024	24,772.55 🗆
Roohr Logging #1029	23,755.00 🗆
Country Forest Products #1016	23,390.00 🗆
Walters Logging #1123	23,205.00 \square
Martin's Forestry #1058	20,642.50 \square
Weaver Forest Products #1037	20,436.40 \square
Frank Gurklis Logging #1051	19,745.00 \square
Denfeld Logging	19,720.00 🗆
Futurewood Corp #1052	19,701.30 🗆

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 NEILLSVILLE, WISCONSIN 54456 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

						Tract:	19-1	9	Minin	num Bid:	18,913.	85							
Nicholas	Syryczı	ık #1059	Inc 🗌	Martin's F	orestry	#1058	Inc 🗌	Weaver I	orest F	roducts#	1037 Inc 🗌	Country F	Forest F	roducts #	1016 Inc 🗌	Futurewo	od Cor	#1052	Inc 🗌
	Vol	Value		1	Vol	Value			Voi	Value			Vol	Value			Vol	Value	
15T-HB	25	17.000	425.00	15T-HB	25	11.500	287.50	15T-HB	25	14.000	350.00	15T-HB	25	14.000	350.00	15T-HB	25	12,140	303.50
20T-MX	240	10.000	2,400.00	20T-MX	240	11.500	2,760.00	20T-MX	240	13.770	3,304.80	20T-MX	240	14.000	3,360.00	20T-MX	240	12.140	2,913.60
15T-OB	30	17.000	510.00	15T-OB	30	11.500	345.00	15T-OB	30	14.000	420.00	15T-OB	30	8.000	240.00	15T-OB	30	9.380	281.40
20T-OO	260	10.000	2,600.00	20T-OO	260	11.500	2,990.00	20T-OO	260	5.460	1,419.60	20T-OO	260	8.000	2,080.00	20T-OO	260	9.380	2,438.80
15T-AB	140	17.000	2,380.00	15T-AB	140	11.500	1,610.00	15T-AB	140	12.050	1,687.00	15T-AB	140	14.000	1,960.00	15T-AB	140	11.100	1,554.00
20T-A	1100	19.600	21,560.00	20T-A	1100	11.500	12,650.00	20T-A	1100	12.050	13,255.00	20T-A	1100	14.000	15,400.00	20T-A	1100	11.100	12,210.00
	Bid	Total:	29,875.00		Bid	Total:	20,642.50		Bid	Total:	20,436.40	İ	Bid	Total:	23,390.00		Bid	Total:	19,701.30
Landweh	r Custo	m Logging	#10 Inc 🗌	Walters L	.ogging	#1123	Inc 🗌	Pilgrim B	rothers	Logging #	#1468 Inc 🗌	Roohr Lo	gging #	1029	Inc 🗌	Kron Log	ging #1	021	Inc 🗌
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	İ
15T-HB	25	15.410	385.25	15T-HB	25	27.000	675.00	15T-HB	25	33.500	837.50	15T-HB	25	17.000	425.00	15T-HB	25	13.500	337.50
20T-MX	240	15.410	3,698.40	20T-MX	240	12.250	2,940.00	20T-MX	240	14.500	3,480.00	20T-MX	240	13.330	3,199.20	20T-MX	240	13.500	3,240.00
15T-OB	30	5.450	163.50	15T-OB	30	22.000	660.00	15T-OB	30	30.000	900.00	15T-OB	30	17.000	510.00	15T-OB	30	11.000	330.00
20T-OO	260	5.450	1,417.00	20T-OO	260	7.500	1,950.00	20T-OO	260	7.000	1,820.00	20T-OO	260	9.500	2,470.00	20T-OO	260	11.000	2,860.00
15T-AB	140	15.410	2,157.40	15T-AB	140	27.000	3,780.00	15T-AB	140	31.000	4,340.00	15T-AB	140	17.770	2,487.80	15T-AB	140	16.000	2,240.00
20T-A	1100	15.410	16,951.00	20T-A	1100	12.000	13,200.00	20T-A	1100	18.000	19,800.00	20T-A	1100	13.330	14,663.00	20T-A	1100	16.000	17,600.00
	Bid	Total:	24,772.55		Bid	Total:	23,205.00		Bid	Total:	31,177.50		Bid	Total:	23,755.00		Bid	Total:	26,607.50
Denfeld L	.ogging		Inc 🗌	Lake Stat	tes Tim	ber LLC #1	056 Inc 🗌	Frank Gu	ırklis Lo	gging #10)51 Inc 🗌								
	Vol	Value			Vol	Value			Vol	Value									
15T-HB	25	12.000	300.00	15T-HB	25	22.220	555.50	15T-HB	25	11.000	275.00								
20T-MX	240	12.000	2,880.00	20T-MX	240	10.420	2,500.80	20T-MX	240	11.000	2,640.00								
15T-OB	30	12.000	360.00	15T-OB	30	22.220	666.60	15T-OB	30	11.000	330.00								
20T-OO	260	5.000	1,300.00	20T-OO	260	3.650	949.00	20T-OO	260	11.000	2,860.00								

140 11.000

1100 11.000

Bid Total:

1,540.00

12,100.00

19,745.00

15T-AB

20T-A

140 12.000

1100 12.000

Bid Total:

1,680.00

13,200.00

19,720.00

15T-AB

20T-A

140 22.220

1100 20.000

Bid Total:

3,110.80

22,000.00

29,782.70

15T-AB

20T-A

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: **20-19**

Minimum Bid: 29,751.80

Tlusty Logging, Inc #1034	46,713.40 🗹
Twin Forest Products LLC #1036	44,900.00 🗆
Nicholas Syryczuk #1059	40,190.00 🗆
Bergman Logging LLC #1013	38,588.00 🗆
Buffalo Lumber & Tie #1015	36,785.00 □
Country Forest Products #1016	36,730.00 □
Ule Logging #1064	34,330.00 🗆

					•	,, ,								<u> </u>	L				
Twin I	Twin Forest Products LLC #10 Inc			Tlusty Logging, Inc #1034 Inc L		Ule Logg	Ule Logging #1064		Inc 🗌	Country Forest Products #1016 Inc			Nicholas	Inc 🗌					
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-MX	((350.000	2,100.00	10-MX	6	350.000	2,100.00	10-MX	6	200.000	1,200.00	10-MX	6	200.000	1,200.00	10-MX	6	360.000	2,160.00
10-0\	V 1	7 480.000	8,160.00	10-OW	17	415.000	7,055.00	10-OW	17	275.000	4,675.00	10-OW	17	305.000	5,185.00	10-OW	17	390.000	6,630.00
10-OF	₹ 6:	3 440.000	27,720.00	10-OR	63	425.000	26,775.00	10-OR	63	325.000	20,475.00	10-OR	63	375.000	23,625.00	10-OR	63	390.000	24,570.00
20T-N	1X 60	9.000	540.00	20T-MX	60	15.270	916.20	20T-MX	60	14.000	840.00	20T-MX	60	14.000	840.00	20T-MX	60	10.500	630.00
15T-C	B 130	29.000	3,770.00	15T-OB	130	35.000	4,550.00	15T-OB	130	30.000	3,900.00	15T-OB	130	12.000	1,560.00	15T-OB	130	20.000	2,600.00
20T-0	0 360	7.250	2,610.00	20T-00	360	14.770	5,317.20	20T-00	360	9.000	3,240.00	20T-OO	360	12.000	4,320.00	20T-OO	360	10.000	3,600.00
	Bi	d Total:	44,900.00		Bid	Total:	46,713.40		Bid	Total:	34,330.00		Bid	Total:	36,730.00		Bid	Total:	40,190.00
Buffal	Lumbe	r & Tie #10	15 Inc 🗌	Bergman	Loggir	ng LLC #10	013 Inc 🗌					J L							
	Vol	Value			Vol	Value													
40.849	, ,	2 220 000	4 000 00	10 MV	c	250,000	4 500 00												

Buffalo	Lumber	& Tie #101	inc 🗌	Bergman	Bergman Logging LLC #1013 Inc						
	Vol	Value			Vol	Value					
10-MX	6	320.000	1,920.00	10-MX	6	250.000	1,500.00				
10-OW	17	375.000	6,375.00	10-OW	17	350.000	5,950.00				
10-OR	63	330.000	20,790.00	10-OR	63	350.000	22,050.00				
20T-MX	60	12.000	720.00	20T-MX	60	10.000	600.00				
15T-OE	130	26.000	3,380.00	15T-OB	130	25.000	3,250.00				
20T-O	360	10.000	3,600.00	20T-OO	360	14.550	5,238.00				
	Bid	Total:	36,785.00		Bid	Total:	38,588.00				

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 21-19

Minimum Bid: **13,090.00**

Wiitala & Vozka Logging LLC #1038 Roohr Logging #1029

Kron Logging #1021

Roohr Logging #1029 Inc			Inc 🗌	Kron Logging #1021			Inc 🗌	Wiitala & Vozka Logging LLC# In				
18T-PR	Vol 440 Bid T	Value 31.110 otal:	13,688.40 13,688.40		Vol 440	Value 31.000 Total:	13,640.00 13,640.00		Vol 440	Value 34.000 Total:	14,960.00 14,960.00	

14,960.00 ☑

13,688.40 🗆

13,640.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract:

22-19

Minimum Bid: 21,671.60

Ule Logging #1064 32,930.00 ☑ Ryder Logging #1061 31,512.00 Landwehr Custom Logging #1024 31,323.90 □ Lambert Forest Products #1023 25,745.00 Marth Wood Shaving Supply #1057 23,638.30

Landwehr Custom Logging #10 Inc 🗌			Ule Logging #1064 Inc			Marth Wood Shaving Supply # Inc 🗌			Ryder Logging #1061 Inc			Inc 🗌	Lambert Forest Products #102 Inc 🔲						
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
20T-A	1200	16.410	19,692.00	20T-A	1200	15.000	18,000.00	20T-A	1200	9.090	10,908.00	20T-A	1200	13.100	15,720.00	20T-A	1200	12.000	14,400.00
10-PW	4	120.000	480.00	10-PW	4	120.000	480.00	10-PW	4	151.000	604.00	10-PW	4	180.000	720.00	10-PW	4	120.000	480.00
10-OW	4	170.000	680.00	10-OW	4	200.000	800.00	10-OW	4	190.000	760.00	10-OW	4	270.000	1,080.00	10-OW	4	170.000	680.00
10-00	3	120.000	360.00	10-00	3	200.000	600.00	10-00	3	151.000	453.00	10-00	3	270.000	810.00	10-00	3	170.000	510.00
20T-PW	30	16.410	492.30	20T-PW	30	15.000	450.00	20T-PW	30	15.000	450.00	20T-PW	30	13.100	393.00	20T-PW	30	11.500	345.00
20T-MX	360	16.410	5,907.60	20T-MX	360	15.000	5,400.00	20T-MX	360	11.010	3,963.60	20T-MX	360	13.100	4,716.00	20T-MX	360	11.500	4,140.00
15T-OB	50	5.450	272.50	15T-OB	50	15.000	750.00	15T-OB	50	24.000	1,200.00	15T-OB	50	25.000	1,250.00	15T-OB	50	10.500	525.00
20T-OO	330	5.450	1,798.50	20T-OO	330	15.000	4,950.00	20T-OO	330	9.090	2,999.70	20T-OO	330	13.100	4,323.00	20T-00	330	10.500	3,465.00
15T-AB	100	16.410	1,641.00	15T-AB	100	15.000	1,500.00	15T-AB	100	23.000	2,300.00	15T-AB	100	25.000	2,500.00	15T-AB	100	12.000	1,200.00
	Bid	Total:	31,323.90		Bid	Total:	32,930.00		Bid	Total:	23,638.30		Bid	Total:	31,512.00		Bid	Total:	25,745.00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 23-19

Minimum Bid: 180,346.90

Martin's Forestry #1058 231,464.00 🗹 Pilgrim Brothers Logging #1468 226,610.00 Theodore Strzok Logging #1033 225,955.00 Kron Logging #1021 219,475.00 Twin Forest Products LLC #1036 211,353.50 McFarland Cascade #1026 210,488.91

McFarlan	d Caso	cade #1026	inc 🗆	Theodore	Strzol	k Loaaina	#103 Inc	Martin's F	orestr	v #1058	Inc	Kron Log	aina #1	021	Inc	Twin Fore	est Pro	ducts LLC	#10 Inc
	Vol	Value			Vol	Value			Vol	Value			Vol	Value			Vol	Value	
10-MR		250.000	500.00	10-MR		350.000	700.00	10-MR		400.000	800.00	10-MR		130.000	260.00	10-MR	-,	360.000	720.00
10-OW	28	350.000	9.800.00	10-OW		350.000	9.800.00			430.000		10-OW		350.000		10-OW		408.000	11.424.00
10-OR	97	350.000	33,950.00	10-OR	97	350.000	33,950.00	10-OR	97	430.000	41,710.00	10-OR	97	350.000	33,950.00	10-OR	97	400.000	38,800.00
18T-PW	460	20.410	9,388.60	18T-PW	460	22.000	10,120.00	18T-PW	460	34.000	15,640.00	18T-PW	460	22.000	10,120.00	18T-PW	460	32.750	15,065.00
18T-PR	3990	33.970	135,540.31	18T-PR	3990	37.500	149,625.00	18T-PR	3990	34.000	135,660.00	18T-PR	3990	35.500	141,645.00	18T-PR	3990	28.250	112,717.50
20T-MX	100	12.000	1,200.00	20T-MX	100	16.000	1,600.00	20T-MX	100	15.500	1,550.00	20T-MX	100	13.000	1,300.00	20T-MX	100	18.300	1,830.00
15T-OB	430	26.500	11,395.00	15T-OB	430	16.000	6,880.00	15T-OB	430	32.800	14,104.00	15T-OB	430	27.000	11,610.00	15T-OB	430	39.000	16,770.00
20T-OO	830	10.500	8,715.00	20T-OO	830	16.000	13,280.00	20T-OO	830	12.000	9,960.00	20T-OO	830	13.000	10,790.00	20T-OO	830	16.900	14,027.00
	Bid	Total:	210,488.91		Bid	Total:	225,955.00		Bid	Total:	231,464.00		Bid	Total:	219,475.00		Bid	Total:	211,353.50
Pilgrim B	grim Brothers Logging #1468 Inc																		
	17.1	17-1																	

l			
Pilgrim B	rothers	Logging	#1468 Inc 🗌
	Vol	Value	
10-MR	2	330.000	660.00
10-OW	28	330.000	9,240.00
10-OR	97	330.000	32,010.00
18T-PW	460	37.500	17,250.00
18T-PR	3990	37.500	149,625.00
20T-MX	100	12.500	1,250.00
15T-OB	430	26.000	11,180.00
20T-OO	830	6.500	5,395.00
	Bid	Total:	226 610 00

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 24-19

Minimum Bid: 38,108.70

Ule Logging #1064

Country Forest Products #1016

65,100.00 ☑ 42,820.00 🗆

Ule Loggi	ng #10	64	Inc 🗌	Country F	Country Forest Products #1016							
	Vol	Value			Vol	Value						
18T-PW	110	17.500	1,925.00	18T-PW	110	10.000	1,100.00					
20T-MX	630	17.500	11,025.00	20T-MX	630	10.000	6,300.00					
15T-OB	110	17.500	1,925.00	15T-OB	110	7.000	770.00					
20T-00	790	17.500	13,825.00	20T-00	790	7.000	5,530.00					
15T-AB	100	17.500	1,750.00	15T-AB	100	14.000	1,400.00					
20T-A	1980	17.500	34,650.00	20T-A	1980	14.000	27,720.00					
	Bid	Total:	65,100.00		Bid	Total:	42,820.00					

CLARK COUNTY COURTHOUSE 517 COURT STREET, ROOM 103 **NEILLSVILLE, WISCONSIN 54456** 715-743-5140





SCS-FM/COC-00083G FSC 100%

Bid Comparison Report

Tract: 25-19

Minimum Bid: 27,788.10

Tlusty Logging, Inc #1034 40,894.90 ☑ Futurewood Corp #1052 32,055.20 🗆 31,770.00 🗆 Country Forest Products #1016 27,813.40 Lambert Forest Products #1023

Lambert Forest Products #102 Inc 🗌			Country F	roducts#	1016 Inc 🗌	Futurewood Corp #1052			Inc 🗌	Tlusty Logging, Inc #1034			Inc 🔲			
	Vol	Value			Vol	Value			Vol	Value			Vol	Value		
18T-PW	20	14.500	290.00	18T-PW	20	13.000	260.00	18T-PW	20	11.360	227.20	18T-PW	20	30.000	600.00	
20T-MX	700	9.750	6,825.00	20T-MX	700	13.000	9,100.00	20T-MX	700	12.830	8,981.00	20T-MX	700	15.270	10,689.00	
15T-OB	40	8.880	355.20	15T-OB	40	7.000	280.00	15T-OB	40	10.500	420.00	15T-OB	40	35.000	1,400.00	
20T-00	190	8.880	1,687.20	20T-OO	190	7.000	1,330.00	20T-OO	190	10.500	1,995.00	20T-OO	190	14.730	2,798.70	
15T-AB	240	11.660	2,798.40	15T-AB	240	13.000	3,120.00	15T-AB	240	12.770	3,064.80	15T-AB	240	25.000	6,000.00	
20T-A	1360	11.660	15,857.60	20T-A	1360	13.000	17,680.00	20T-A	1360	12.770	17,367.20	20T-A	1360	14.270	19,407.20	
	Bid	Total:	27,813.40		Bid	Total:	31,770.00		Bid	Total:	32,055.20		Bid	Total:	40,894.90	